Check Your Understanding
Equations of Lines: x- and y-intercepts

Answer these problems, then check your answers using the key on the next page.

#1) Find the x-intercept and y-intercept, and graph the line using
these intercepts: 4x—2y+5=0

x-intercept y-intercept

#2) Find the x-intercept and y-intercept, and graph the line using
these intercepts: x=-7

x-intercept y-intercept




Answers:

. 5 . 5 5
#1) x-intercept ;| ~—,0 | y-intercept .} 0, :
4 2 !
5
4
3
o
9 £7 5543 A1 2 3 £ 5 87 B 21D
:
:
5
5
7
8
E
10

#2) x-intercept :(~7,0),  Noy-intercept

£ 817 A6 54 a2 4t 23 45678340

b B3

S




